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AR 470 515 22,748 24,926
127 YURTYy T —I 26
frem 690 760 - -
YrRTIv
435 480 25,796 28,464
HAR Y RrE—7
7°U 2 7“ )z 73 v 605 665 35,877 39,435
128
YNNG T Y RT5Y
495 545 - —
TE Y RE—2
Ty 685 750 - -
FUHSZTY v AT 435 480 25,796 28,464
129 - e
EA=E] wE 495 545 - -
TYRY —
VAR d=2
435 480 25,796 28,464
AR ZUFaa
Uy Oy b
TYERTY s TVT 5wy 605 665 35,877 39,435
130
A4 TYRY —
VA 4=2
495 545 - —
%HE ZUFaa
Uy Oy b
TVT Ty 685 750 - -
TUT Ty 420 475 42,000 47,500
TURY —
71 am90 k4=
305 335 30,500 33,500
Z7UF a2
FUIRTY Y 7V Frny b
131 5
ZYan VTS 860 970 - -
TURY —
71213190 k4=
650 715 - —
VAU ==
Uy Oy b
FUSZTY 2E—I 380 420 5,434 6,006
132 ; . £
D2 5= 495 545 4,950 5,450
133 Ay Y X F—=v — 26 87,400 BE 87,400 BE
AR 690 760 8,625 9,500
TY 1) 7“D “ :I—ﬂ'— 790 870 - -
138 Dﬁ;ﬁ‘ Y ]7 ot
7L — 1508 Kik = 1,490 1,640 - -
NV T 700 770 - -
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- (RS 1 e
= s o ° wew | e | meEwm | R
s 870 960 10875 | 12,000
TYERB Dy 5 - e 980 1,080 - —
7L — 1808 ik = 1,680 1,850 - -
T 860 950 - —
e s 1060 | 1,170 | 13250 14,625
TYER Dy 5 - e 1,180 1,300 - —
7L — 2102 ik & 1,860 2,050 — -
NV F 1,000 1,100 - -
s 1100 1,210 13750 15,125
o 1,220 1,340 - -
IY_?E;W;/E;;O; g & 26 1570 1,730 - .
HE N> F 1,570 1,730 - -
NV T 700 770 - -
. T 123 1350 15375 | 16,875
S 1380 1,520 - -
IY_Z‘E;W;/DZI’O; g & 26 1960 2,160 - .
et~ F 1960 | 2,160 - -
NV F 1,000 1,100 - -
HAR 960 12,000
a—+— 1,080 —
TYU?'&J_W:; ?O‘;; i 28 oo | - E
At N F 1,570 —
NV T 700 770 - -
10 HAR 1,280 16,000
a—+— 1,420 —
TYU?'&J_W:,; TO‘;; K= o6 el - o
LAt N F 1,960 —
NV F 1,000 1,100 - -
s 1160 1280 14500 16,000
. :Y?i;;z;@ 1—F— ) 1,290 1,420 - -
NV T 700 770 - -
s %0 1,060 12000 13,250
H S 1080 1,190 - -
A:Yféfl;;:;@ A= o6 1570 1,730 - -
HE N F 1,570 1,730 - -
NV T 700 770 - -
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1BE; s . . AN 1 i fi
B SUERT WEE SUERT WEE
Nl 1,280 1,410 16,000 17,625
- 1,420 1,560 -
141 Tfj%i;gﬁ: i 2t 1960 2,160 -
Lt/ N> F 1,960 2,160 -
NV F 1,000 1,100 -
142 Z)—7ay s - 26 2,200 2,280 -
- . 19007 26 2,520 3,200 -
e prRzayT IFZNv gt - 430 500 -
CAP *+v7
e IS s & A
B BER BEHR
HEARE 21,500 23,600
143 7O0—bFrvv 7 IVR¥vy 7 ) 2,400 2,640
FeE 2,430 2,670
DP 14,300
s ST 11,700
TERXR—X ST 1,420
144 AZAY yaFvy S IV FRF¥vy 7/ 26 1,960 WEL L
90° a—F—/8=v ) 2,340
EEOI—F—/X—V 26 1,470
BiEY a A~ b ) 1,850
. HAA N 1,180 1,300
144 22U LF¥ry TS S ) 1380 1,520
400 x 1805 & 1,790 1,970
" R 400x180a—F —% B ce 1,790 1,970
400 % 1508 1,790 1,970
400x 1500 —F —% B 1,790 1,970
145 VEWESE X %HE 26 2,630 2,890
. HE N 2,340 2,580
145 YiLbFry 7 e 26 2340 2,580
. TE N 2,340 2,580
146 TV —F vy I 26 2340 2,580
. TE N 2,340 2,580
146 TyVFry - 2t 2340 2,580
‘ ) 4B . 2,340 2,580
146 TyITHA Ry T I 26 2340 2,580
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1BE; N AP
SRR saiE & # .,
B BERT HER
YE 2,340 2,580
146 LAY —Fvv 7/ 26
a—+r—%E 2,340 2,580
oA 2,240 2,470
147 LoLFyvy S 26
a—F—%E 2,240 2,470
oA 2,240 2,470
147 FovFry s 26
a—F—%E 2,240 2,470
oA 2,240 2,470
a—F—%E 2,240 2,470
400x 1805 & 1,790 1,970
147 FFaTLTy RErvy S 2
400x 1803 —F —% & 1,790 1,970
400 x 1505 & 1,790 1,970
400x 1500 —F —% & 1,790 1,970
oA 2,240 2,470
a—F—%E 2,240 2,470
147 T4 Ty REry S 26
400%E 1,790
RE
4000 —+—%E8 1,790
o 2,240 2,470
148 AF¥—Frvv/ 26
O—F—%E 2,240 2,470
LB 2,240 2,470
148 TAvFEvy S 26
a—F—%E 2,240 2,470
LB 2,240 2,470
a—F—%E 2,240 2,470
148 ANWAb=vFvy S =)
400%E 1,790
BEE
4000 —+—%8 1,790
YE 2,340
148 R—Frxry 7 i) RE
a—Fr—%E 2,340
W150 5,300 5,670
149 TILEZRF vy 26
W240 7,000 7,500
EEYN 3,150 3,370
HEAR L —HS
3,340 3,670
Hhhar
149 Ah=vFvyS
EENNGS 3,480 3,720
a—+F— JL—snf
3,680 3,940
Hhhar
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PLATE 7L —+

B4 e o . (RS L s
=] B WER WA WEE
sk 5140 5920 18633 21,460
Ea—r—m 5140 5920 18633 21,460
152 HLkTL— b Fa—F—m 26 5,140 5,920 18,633 21,460
£1/29—F—H 2570 2,960 18633 | 21,460
£1/29—F—H 2570 2,960 18633 | 21,460
s 5140 5920 18633 | 21,460
152 TAT—TL— b q— 55 26 5,140 5,920 18,633 21,460
29—+ -5 2570 2,960 18633 | 21,460
sk 5140 5920 18633 | 21,460
153 SyUTL— b q— 5 26 5,140 5,920 18,633 21,460
/29— F—m 2570 2,960 18633 | 21,460
o . ~ 5140 5920 18633 | 21,460
13 e 12 e 2570 2,960 18633 21,460
. 5140 5920 18633 | 21,460
154 LAv—FL—h q— 55 26 5,140 5,920 18,633 21,460
/29— F—m 2570 2,960 18633 | 21,460
- ot . e 490 5640 | 17763 20,445
/2% 2450 2,820 17763 20,445
- o . . 490 5640 | 17763 | 20,445
/2 2450 2,820 17763 20,445
s | praonmy fit . . 490 5640 | 17763 | 20,445
/2% 2450 2,820 17763 20,445
6 | pemm oy . e 490 5640 | 17763 | 20,445
/2% 2450 2,820 17763 | 20,445
- e . . 490 5640 | 17763 | 20,445
/2% 2450 2,820 17763 20,445
o s . . 5140 5920 18633 | 21,460
/2% 2570 2,960 18633 21,460
- o . i 490 5640 | 17763 20,445
/2% 2450 2,820 17763 20,445
- s . . 6400 7,080 29120 | 32,032
q— A 7,670 8,440 - -
. ot . . 7450 8200 33898 37,310
A w 8,900 9,800 - -
61 Tt ZE AR on 11,100 11,500 33,578 34,788
79— 1335 14,600 - -
18
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1B AN 1 i fi
hnLE g <)
B WEHT WEHR BEHT WER
ZEARR 11,100 11,500 33,578 34,788
162 TrFTL— b e
Za—+— 13,350 14,600 — -
ZEARR 11,100 11,500 33,578 34,788
163 EFFSL— b e
Za—+— 13,350 14,600 — -
AR 11,280 11,620 32,571 33,553
1/28 4R 3,090 3,190 — —
F—IILA =Y AT a4y 7D
164 O—F— 26 20,170 20,780 — -
ARy
i1 3,580 3,690 - -
Q- %8 4,260 4,390 - -
165 TILTFFRE—> - ) 5,200 5,360 26,000 26,800
0y 7e—y 10,700 11,050 29,960 30,940
166 REYFR b= va— =y e 5,340 5,500 29,904 30,800
T Ri—Y 6,890 7,100 — -
168 S TFR—R— — ) 9,660 9,950 24,150 24,875
SLE—KTA R 12,680 13,100 23,458 24,235
169 ARJTTRI=>v FL—F 3000R Y LA T —RERT7A
12,430 13,680 22,995 25,308
NeF =TSy
R—Va23IvyU2R 15,850 28,266
EHA 7144 T—2FK74 k WEH L WEH L
19,270 34,365
N—F—=T7Z vy
R—Va23Ivys2R 14,080 26,048
170 ROLITRAM—> EHA 2 EHA 25 T—RFETAk HERL WERL
18,500 34,225
N—F—TZv 7
R—T23IvsR 16,700 30,895
L v Z—48 T—2FKT74 k WEH L WEH L
20,350 37,647
N—F—=TFv 7
230 30,100 33,000 15,803 17,325
171 sOo—REHFA2 e
1500 32,800 36,400 17,220 19,110
3010P 9,300 9,300
172 TILTZATL— k e WER L HWER L
6310P 13,500 9,281
3010P 9,300 9,300
172 XY TL— b o6 WEH L WEH L
6310P 13,500 9,281
3010P 9,300 9,300
172 gAY —FL—} ) WEH L WEH L
6310P 13,500 9,281
B AT 13,900 16,000 27,476 31,627
174 nNav7Yy o4k e
B a—7— 20,700 23,800 - -
AR R AR 12,800 14,400 25,301 28,464
174 AZRTY oS54 ot
B a—7— 19,000 21,300 — -
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1BE AT 1 it
IS mmiE & . .
B IR WER HE R WER
B EE AT 13,900 16,000 27,476 31,627
174 FINETYVy 774+ 26
BEM O —F — 20,700 23,800 - -
B EE AT 8,100 8,900 16,335 17,948
176 T 74TV T4k 26
At a—7— 9,100 10,000 - -
B EEANEY 7,100 7,800 14,318 15,730
177 SURTYUy T4 b 26
Bttt o —7+— 8,450 9,300 - -
Y R7I0v
9,000 9,900 17,790 19,569
B EE AT R
FUHRTY s P 11,600 12,750 22,929 25,203
178
YNT - Z4 Y R7I0v
13,650 15,000 - -
M a—7— R
Ty 17,450 19,150 - -
FUSZTY s B EEANEY N 9,000 9,900 17,790 19,569
178 N _ ey
FiA=E T BEM O —F — 13,650 15,000 - -
TUNY =
JUy~<oyv
9,000 9,900 17,790 19,569
B EE AT ZUFaa
AEEA=DAN
FYGZTY 4 TVT Ty 11,600 12,750 22,929 25,203
178
AU A7 TYRY —
JUy~<oyv
13,650 15,000 - -
Mo —7— ZYUFa
PAUE S A=E
TVTTv Y 17,450 19,150 - -
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PAVE ~4 7

B A 1 it
EHIEE2 fRis ® . — -
" BEHT WER BER WER
FT7ERTA b 1,940 2,140 21,534 23,754
30000 F—2LTL—
2,100 2,310 23,310 25,641
K=o 7L —
FT7ERTA b 3,880 4,270 21,728 23,912
600 % 300 F—2LTL—
4,200 4,620 23,520 25,872
K=o 7L —
FT7RTA b 4,370 4,810 21,850 24,050
45007 F—2LTL—
4,730 5,210 23,650 26,050
=0 7L —
182 PILbRAT
FT7ERTA b 7,760 8,540 21,728 23,912
60007 F—2LTL—
8,400 9,240 23,520 25,872
=0 7L —
FT7ERTA b 8,740 9,620 21,850 24,050
900 x 450 F—2LTL—
9,450 10,400 23,625 26,000
=0 7L —
FT7ERTA b 11,640 12,810 22,116 24,339
900 x 600 F—2LTL—
12,600 13,860 23,940 26,334
K=o 7L —
ROUL—
1,940 2,140 21,534 23,754
30003 Yr—LTL—
RIR—=7 2,100 2,310 23,310 25,641
ROUL—
3,880 4,270 21,728 23,912
600 % 300 Yr—LTL—
RIR—=0 4,200 4,620 23,520 25,872
ROUL—
4,370 4,810 21,850 24,050
45001 Yr—LTL—
RIR=0 4,730 5,210 23,650 26,050
184 RIAb—v_AT
ROUL—
7,760 8,540 21,728 23,912
60007 Yr—LTL—
RIR—=0 8,400 9,240 23,520 25,872
ROUL—
8,740 9,620 21,850 24,050
900 x 450 Yor—LTL—
RIR—=7 9,450 10,400 23,625 26,000
ROUL—
11,640 12,810 22,116 24,339
900 x 600 Yr—LTL—
RIR—=0 12,600 13,860 23,940 26,334
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B AP TfA% 1 it
SERE ERYED ® o »
" BEHT WER BER WER
A=
2,420 2,550 26,862 28,305
30003 A==
D=kl 2,650 2,790 29,415 30,969
A=
4,840 5,100 27,104 28,560
600 x 300 4=
D=kl 5,300 5,580 29,680 31,248
A=
5,450 5,740 27,250 28,700
45007 A==
D=kl 5,970 6,280 29,850 31,400
A=
9,680 10,200 27,104 28,560
188 ZIWA =2 RAT 6000 A==
D=kl 10,600 11,160 29,680 31,248
A=
10,890 11,480 27,225 28,700
900 x 450 A==
D=kl 11,940 12,560 29,850 31,400
A=
14,520 15,300 27,588 29,070
900 x 600 A==
D=kl 15,900 16,740 30,210 31,806
A=
19,360 20,400 27,104 28,560
1200 % 600 A==
D=kl 21,200 22,320 29,680 31,248
Za—b+FTPva
Za—FJL— 1,940 2,140 21,534 23,754
30003
Za—kRTIL
Za—hkE—=7 2,100 2,310 23,310 25,641
Za—b+FTPva
Za—hFJL— 3,880 4,270 21,728 23,912
600 x 300
Za—kRTIL
N a4 4,200 4,620 23,520 25,872
190 Za—kRAT
Za—b+FTPva
Za—hFJL— 4,370 4,810 21,850 24,050
45007
—a—kRTIL
Za—hkE—=7 4,730 5,210 23,650 26,050
Za—b+FTPva
Za—kJL— 5,820 6,410 21,534 23,717
900 x 300
Za—kRTIL
N a4 6,300 6,930 23,310 25,641
22
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1B AN 1 i fi
P 4 ARl & »
B HE A WEE HE R WER
Za—bFTPyTa
—a—FoL— 7,760 8,540 21,728 23,912
60001
Za— k7ML
—a—b+x—7 8,400 9,240 23,520 25,872
Za—bFTPyTa
—a—FSL— 8,740 9,620 21,850 24,050
900 x 450
Za— kTN
Za—kE—7 9,450 10,400 23,625 26,000
Za—bFTPyTa
Za—kJL— 11,640 12,810 22,116 24,339
190 Za—kRAT 900 x 600
Za— k7ML
Za—bkE—=7 12,600 13,860 23,940 26,334
Za—bFTPyTa
—a—broL— 11,640 12,810 22,116 24,339
1200 x 450
Za— kTN
Za—hkE—=7 12,600 13,860 23,940 26,334
Za—bFTPyTa
Za—FoL— 15,520 17,080 21,728 23,912
1200 x 600
Za— kTN
Za—hkE—=7 16,800 18,480 23,520 25,872
Za—bFTPyTa
—a—b+JL— 1,050 1,160 21,000 23,200
192 Za—kRAT AFH— 24018
Za— kTN
N a4 1,160 1,280 23,200 25,600
30001 1,940 BE 21,534 EE
600 x 300 3,880 4,270 21,728 23,912
194 AFX—RAT 60001 26 7,760 8,540 21,728 23,912
900 x 450 8,740 9,620 21,850 24,050
900 x 600 11,640 12,810 22,116 24,339
198 T —HR—&— 300%x50x60 26 162 179 10,805 11,939
300 % 300x60 780 860 8,658 9,546
200 T7—=HRAT 26
600 x 300 x 60 1,560 1,720 8,736 9,632
233x116.5x60 231 254 8,501 9,347
202 T7=HTVv s 26
116.5%x116.5x60 220 242 - -
555 %300 x50 1,355 1,495 10,705 11,811
204 TIT—HRE=v aA—F—/=2 26 1,740 1,920 - -
aO—F—s8— V4 2,130 2,350 - -
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B AP TfA% 1 it
SERE i ® . — .
B BE B WER HE Bl WER
300x300x40 900 990 9,990 10,989
600 % 300 x40 1,800 1,980 10,080 11,088
206 HIVLRA T 26
300 x 300/N 12/ £ Vf 1,250 1,380 - -
600 x 300/N I3[ £ Vf 2,500 2,750 - -
555 X 300 X 50 1,460 1,610 11,534 12,719
208 HIVLR k= dA—F—/"—2 26 1,860 2,050 - -
J—F—s—V4 2,280 2,510 — -
210x150x40 278 306 8,813 9,700
210 RILRTY s 150 x 150 x40 26 199 219 8,836 9,724
150 %100 x40 133 147 8,871 9,805
212 RILRFa1—7 110x110x40 26 107 118 8,849 9,759
210% 150 x 40 291 320 9,225 10,144
214 HryF7Uy o 150 x 150 x40 26 209 230 9,280 10,212
150 %100 x40 139 153 9,271 10,205
300 x300x40 900 990 9,990 10,989
600 %300 x40 1,800 1,980 10,080 11,088
216 T7ZIRAT 26
300 x 300/N 12/ £ Vf 1,250 1,380 - -
600 x 300/N I3 £ 1 f 2,500 2,760 - -
JL ==
K= 7L —
2,330 2,570 14,679 16,191
ES-7-603@> 3 v k) TARY —
77T
TLITLKRTA R 2,450 2,700 15,435 17,010
TL—R=2 1
K= 7L —
1,320 1,460 14,652 16,206
ES-5-603@> 3 v k) TARY —
77
FLITLKRTA R 1,390 1,530 15,429 16,983
218 Foy— X5y
TL—R—=2 1
K= 7L —
1,530 1,690 9,639 10,647
ES-7-60(1@> 3 v k) TARY —
77
TLITLKRTA R 1,610 1,770 10,143 11,151
TL—R—=2 1
K= 7L —
870 960 9,657 10,656
ES-5-60(1@> 3 v k) TARY —
77
TLITLERTA R 910 1,010 10,101 11,211
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B N N il g 1 m{ftg
SIRE2 i ® » .
B WIEHT WER WERT WER
Za—b+FTPva
—a— oL — 10,400 11,500 - -
45001
—a—krRTI
220 Za—bRFYS
Za—btx—2 11,200 12,400 - -
FALET Y h—t vy b - 330 350 - -
T H—FA s - 1,580 1,660 - -
=i
11,130 12,300 - -
4500 =i
222 RIVA =V ATy T Yy 11,910 13,200 - -
FALET Y h—t vy b - 330 350 - -
T H—F A - 1,580 1,660 - -
223 > FE250 - - 7,500 7,880 - -
A=y
KA k=
=i
TYURSYRRFY FAzy b 183,400 198,000 - -
AV
3EEW900 2
7 aXx
LAVFR =V — 201,800 218,000 - -
A=k
KR k=
rsote
TV RS YRRFY FAzy b 201,800 218,000 - -
AV
3EFW1200 2
7 A X
LAVFR =V — 224,400 242,000 - -
A=k
KR k=
224 =i
TURSYRRF Y FAzy b 143,000 = 154,500 - -
AV
2B2W900 2
7 A X
LAVFR =V — 157,500 170,000 - -
A=k
KR k=
oYy
TV RS Y RRTFy Sy k 157,500 170,000 — -
AV
2B%W1200 22—
7 A X
LAYFR b= — 173,200 187,000 - -
ROTTEAT — 47,600 49,200 - -
FHA L -
2ZA—7%47 — 47,600 49,200 - -
Ry RFz7L v o R — - 2,100 2,210 - -
226 Ty TR—Z by 3@ avy bxAT — 2,180 2,400 24,198 26,640
EH LA — 920 1,010 10,212 11,211
227 7Yy TR=2
BIE3E> a3y b&A T — 1,800 1,980 19,980 21,978
25
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1B N AN 1 i fi
A i = - — -
=] WA WER W WER
229 TOYOY 3 A % R4 — SATL— 2480 | ®EHLEL — -
229 TOYOY 3 A %+ K5 — R— 1 2,480 WEH - -
N—n 2,970 - —
T
229 TOYOY s A4 > K - n—F - WEH L
ZL— 3,740 - —
Ty
229 BAKS— b - - 39,000 EEAL - -
230 FL )RR — 300 % 75 % 60 2 150 168 6,660 7,459
T ERAT
. i P 300 x 300 x 60 ) 630 750 7,548 8,325
7
232
TTYERAT
. ; g h;4 # 300 % 300 % 60 e 680 750 7,548 8,325
V4
rpx 300 % 300 x 60 R 1,320 1,460 14,652 16,206
_ S Eoyea)
R=RANT7 =847 600 x 300 X 60 2,640 2,920 14,784 16,352
234
¥
M E bt 300 x 300 x 60 ) 1,320 1,460 14,652 16,206
5_
236 ToUFRAT 300 x 300 x 60 26 870 960 9,657 10,656
300 x 300 x 60 970 1,070 10,767 11,877
240 = Nl DA ) 2
300 x 150 x 60 485 535 - -
242 v — FRA FEX 300 x 300 % 60 ) 1,020 1,130 11,322 12,543
52N ATy o1 ) 570 630 9,120 10,080
243 SR -NATY ol BB/ — ) 430 470 - -
55 ZBTI—Y EENN5 900 935 28,800 29,920
204 TSR -NATYy sR—K— - e 400 440 8,880 9,768
LKG-SX&
LKG-SI&! 26 16,700 - -
LKG-ST#!
246 AL R~ —H — WELL
LKGSP-X
LKGSP- 2@ 13,400 - -
LKGSP-T
LKT-X 8,000 - -
246 31V BRLKT-20 LKT-T - 8,000 WELL — —
LKT-E 8,000 - -
26
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1B N AN 1 i fi
ESERE i ® - — .
B BE B WEHR HE Bl WER
1000 X 46(ZZ &= 16mm) 9,200 — —
1000 X 94 (&= 16mm) - 18,300 — —
1000 % 122 & 16mm) 23,000 - —
247 75 2R—K— 1000 x 46 (2 E40mm) 14,500 HELL — —
1000 X 94(Z Z40mm) - 28,900 — —
1000 % 122G = 40mm) 36,500 — —
HREER 3,400 — —
300% 75 %60 145 160 6,438 7,104
248 7N 300 % 300 x 60 ) 580 640 6,438 7,104
600 % 300 x 60 1,160 1,280 6,496 7,168
300% 75 %60 145 160 6,438 7,104
250 N—3 vy 7 ~_4 T03EX 300 %x 300 %60 26 580 640 6,438 7,104
600 % 300 x 60 1,160 1,280 6,496 7,168
300% 75 %60 143 158 6,349 7,015
254 oL 300 % 300 x 60 ) 570 630 6,327 6,993
600 % 300 x 60 1,140 1,260 6,384 7,056
200 % 100 x 60 132 146 6,600 7,300
256 ITILLTY v 26
100 x 100 % 60 66 73 6,600 7,300
257 R—2 w7y 203 200x 100 x 60 2t 134 148 6,700 7,400
200 % 100 x 60 148 164 7,400 8,200
100 x 100 % 60 77 85 7,700 8,500
258 NA - Ty o4 )
200 % 100 x 80 168 186 8,400 9,300
100 x 100 x 80 84 93 8,400 9,300
200 % 100 x 60 128 142 6,400 7,100
100 x 100 % 60 67 74 6,700 7,400
259 NA - Ty o6 )
200 % 100 x 80 160 176 8,000 8,800
100 x 100 x 80 80 88 8,000 8,800
260 FITFAR—Z— 200 % 50 % 60 2t 98 103 9,800 10,300
AR T T
260 275 13,000 13,750
syl FAa—X
198 x 98 x 60 T ILERTA b
SRy —L 300 315 15,000 15,750
DRI N I
262 AR TYy oRAT
THILRT I
260 275 - -
Syl Ro—X
98 x 98 x 60 S RRTA R
D AN A/ RSN 300 315 — -
DR DI N I
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1B AN 1 i fi
SERE fmiE ® . — .
= WEHT WEHR BERT WEHR
THILRT T
285 300 — -
syl FAa—X
262 AR TYy oRAT NOfEE Ty RERTA b
DE AN A/ RSN 320 335 — -
Tyl Ryaa3
198X 98 X 60 235 250 11,750 12,500
264 RAYG - Ty oRA4T 98 98 X 60 ) 235 250 - -
PO B = 310 330 — -
[H50fE AR
29,155 36,652
266 NAYTY Y IR—&— 200 % 60 x 50 o) 350 440
[H60fEAR]
35,000 44,000
[H50fE AR
29,155 36,652
268 Ay pR—R— 200 % 60 x 50 ) 350 440
[H60MEAR]
35,000 44,000
270 ARNT Yy oRAT HAR 26 540 620 20,574 23,622
272 FINETY o _AT HAR 26 625 705 23,813 26,861
274 T4 TV I RAT HAR 26 520 570 19,812 21,717
276 SURTYyoRAT HAR 26 490 540 18,669 20,574
ToRTTYY 545 18,860 20,765
. _— 495 , ,
277 VTR TY T AT $oEg—y
YNT - RA47T
Ty 645 710 24,575 27,051
300L 1,650 1,820 36,630 40,404
450L 2,480 2,730 36,704 40,404
600L 3,300 3,630 36,630 40,293
278 FFaINLTy RRAT 900L 2t 4,950 5,450 36,630 40,330
30000 x 40 2,100 2,310 23,310 25,641
600 x 300 x 40 4,200 4,620 23,520 25,872
900 x 300 x 40 6,300 6,930 23,310 25,641
300L 1,500 1,650 25,050 27,555
P URIE SRS IR 450L 2,250 2,480 24,975 27,528
280 ool )
AY=N=_AT7F4} 600L 3,000 3,300 24,900 27,390
900L 4,500 4,950 25,200 27,720
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282 e 600L 2 4,410 4,860 - -
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900L 6,930 7,630 — -
1200L 9,030 9,940 — —
30007 2,100 2,310 23,310 25,641
600 x 300 4,200 4,620 23,520 25,872
284 TAVTF—T Iy R T e
900 x 300 10,040 11,050 37,148 40,885
1200 x 300 13,460 14,810 37,688 41,468
300L 1,100 1,210 36,630 40,293
286 TAYTF—Ty FR—&X— e
600L 2,200 2,420 36,740 40,414
300L 1,500 1,650 25,050 217,555
450L 2,250 2,480 24,975 27,528
288 LANLRY —R=RA TS5 4 | 2
600L 3,000 3,300 24,900 27,390
900L 4,500 4,950 25,200 27,720
300L 2,210 2,440 — -
450L 3,310 3,650 — —
290 LALRY —/X—=_A T 600L 26 4,410 4,860 — -
900L 6,930 7,630 — -
1200L 9,030 9,940 — —
300 x 300 x 30 2,400 26,640
292 TSUT A=V 600 x 300 x 30 — 4,800 EE 26,880 EE
900 x 600 x 50 50,000 47,500
30007 3,080 34,188
600 x 150 3,080 34,188
600 x 300 6,150 34,440
60007 12,300 34,440
HELL HERL
900 x 450 13,650 34,125
900 x 600 18,200 34,580
294 LAYFRAh—v 1200 x 600 — 51,400 35,723
EA2=1s 2,370 23,700
== 420 435 42,000 43,500
2THE> OO 900 930 - -
SHA 4,050 4,180 - -
I (1nf) 16,100 17,700 16,100 17,700
EH(10nT) 149,500 164,500 14,950 16,450
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74 b 2,620 2,700 29,082 29,970
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75y 3,300 3,400 36,630 37,740
74 b 2,620 2,700 29,082 29,970
600 x 150 x 30
7S5y 3,300 3,400 36,630 37,740
RTA b 5,250 5,420 29,400 30,352
600 x 300 x 30
Ty 6,560 6,770 36,736 37,912
74 b 10,500 10,850 29,400 30,380
296 Y 600 x 600 x 30
7S5y 13,100 13,500 36,680 37,800
74 b 43,700 45,100 54,625 56,375
900 x 450 x 50
75y 52,500 54,100 65,625 67,625
FTA R 55,100 56,800 52,345 53,960
900 x 600 x 50
75y 67,500 69,600 64,125 66,120
74 b 72,200 74,500 50,179 51,778
1200 x 600 x 50
75y 90,800 93,600 63,106 65,052
300 % 300 x 40 2,570 2,830 28,527 31,413
600 x 300 x 40 5,090 5,600 28,504 31,360
298 YLT7RAb—v 2
1200 x 600 x 50 61,000 67,100 42,395 46,635
SHA 3,800 4,180 - -
Hty b (1) 22,700 22,700
300 FT=—2Xb—> X4 L7 ot MER L MER L
6007 4,540 22,700
302 [ 3 S ERA)) ) 19,500 MER L 19,500 HWEHL
A (1) 15,400 16,950 15,400 16,950
90IEHF 3,740 3,970 18,700 19,850
304 Iy 7 RL—k 190E A — 3,740 3,970 18,700 19,850
190E A 3,740 3,970 18,700 19,850
290IE 57 1,800 1,900 19,980 21,090
I (1nf) 20,100 22,100 20,100 22,100
306 FU/ZvoR ELF(10n) — 192,500 | 211,800 19,250 21,180
100EEAF 7,300 8,030 30,149 33,164
Ty 530 560 23,585 24,920
14007
Ty 585 615 26,033 27,368
75y 760 800 24,092 25,360
200 x 140
A A% 840 880 26,628 27,896
308 s0/) A b=y
Ty 980 1,030 24,206 25,441
260 x 140
Ty 1,080 1,130 26,676 27,911
75y 2,530 2,650 25,300 26,500
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Ty 2,660 2,800 26,600 28,000
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310 ILRR b= 590 % 290 £ 4,610 4,750 25,816 26,600
FHft v b (#90.4n1) 10,260 10,600 25,650 26,500
i 2 b 1400 e 515 535 22,918 23,808
200 x 140 725 750 22,983 23,775
1400 445 19,803
313 RLTZR b= — MELL BMELL
200 % 140 640 20,288
30007 1,880 2,070 20,868 22,977
600 x 300 3,750 4,120 21,000 23,072
Eyao 485 510 48,500 51,000
316 TR f—v 2THE>aR 2t 970 1,020 - -
SbE 3,600 3,960 - -
B (1nd) 14,300 15,750 14,300 15,750
#F(10nT) 130,000 143,000 13,000 14,300
e b 3000 e 1,680 1,850 18,648 20,535
600 x 300 3,360 3,700 18,816 20,720
A ==k 5,450 30,520
SNF—FTA R 5,450 30,520
260032 iog RIS 5880 @ BELL 32028 @ MEHL
T—RKTA b
5,880 32,928
N=F—=TZv7
A ==k 2,730 30,303
320 ZYTITAP—vTL—k SNF—FTA R 2,730 30,303
2030703 . K=Y 2,840 | WEHL 31524 | WE#HL
T—RKTA4 b
2,840 31,524
N—F—=T 597
SNF—FTA b 12,680 13,100 23,458 24,235
30000
AU LgAT STARTAE 12,430 13,680 22,995 25,308
N—F—TFFv s
322 SHNTAS A=Y - e 10,500 10,900 21,000 21,800
F—IIR = B (1nd) - 11,300 12,400 11,300 12,400
- 774 #J (20m) — 204,800 = 225,300 10,240 11,265
F—ULZ k= EL (1) - 19,600 20,200 19,600 20,200
. ARN=TH—LF L (10n) - 182,000 | 187,500 18,200 18,750
F—IIR = B (1nd) - 17,300 17,800 17,300 17,800
3 T 2 72 (10n) — 159,500 | 164,400 15,950 16,440

31
g% (@EHAI)




B . AR 1 mif&
A fmiE ®
B SE BT BER SE BT BER
R (1nd) 17,100 17,100
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19054 4,950 24,750
190IE A 5,260 26,300
ILF(1n) 18,400 18,400
ELRZ(10nd) 181,500 18,150
F—DIR k=2
327 . ) g 90IEAF - 5120 | BWEHEL 25,600 | BMEHEL
=)Ly
19054 5,120 25,600
190IE A 5,470 27,350
18 A— LR k= A1) — 15,300 17,400 15,800 17,400
N=NT 77 AF(10m) — 147,400 162,100 14,740 16,210
F— LR — R (1nd) - 19,200 19,200
329 ﬁ g B L B L
7=RETA R L (Tnd) — 128,700 18,386
EIE(1nf) 14,300 15,000 14,300 15,000
AL (10m) 133,700 140,400 13,370 14,040
F— IR =
330 _— 90EAF - 4,030 4,230 20,150 21,150
19054 4,030 4,230 20,150 21,150
190IE A 4,180 4,390 20,900 21,950
LI (1nd) 14,300 15,000 14,300 15,000
AL (10m) 133,700 140,400 13,370 14,040
F—TIRA =
331 X 90EAF - 4,030 4,230 20,150 21,150
JIL—/
19054 4,030 4,230 20,150 21,150
190IE A 4,180 4,390 20,900 21,950
ViR 4 R
305 335 30,500 33,500
VA4 ITRa—
VoL —
330 365 33,000 36,500
E>an Ve > o
VI —v
332 S 2=]=! 350 385 35,000 38,500
VL vy K
2H01F 340 375 34,000 37,500
V74 R
610 670 - —
2THE>an VA ITH—
ERNNG 715 785 - —
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E2aHaS 2,560 2,820 25,600 28,200
ViR 74 b
FHH 2,360 2,480 26,196 27,528
~ V4 To—
(=300x =300 x =40)
VJL— 2,490 2,610 27,639 28,971
334 Eva) VoA 1
EAW 4,700 4,930 26,320 27,608
” V4 To—
(=600x =300 x =40)
VJL— 4,970 5,220 27,832 29,232
100 x 100 x 600 N 3,090 3,400 — -
5 IF R k=2 26
¥ A g 100 x 100 %900 4,640 5,100 — -
336 SHERBERELAT) 120 % 150 X 600 e 5,250 5,770 — -
F-2 2,960 3,260 - -
336 SHAEFREZAT) F-6 — 3,730 4,110 — -
F-7 4,470 4,920 - -
X 3,230 3,330 - -
=R )
337 KZ>noy . 3230 3,330 a B
ME 85,000 93,500 - -
ER
= 74300 81,700 - -
X - FMIX BE
fic
61,100 67,200 - -
P =!
MR 4,180 4,600 - -
ER
3,620 3,980 - -
340 g X B
Fi
3,230 3,550 - -
P =!
MR 4,180 4,600 - -
EMR
3,620 3,980 - -
F BE
fi
3,230 3,550 - -
P =!
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2,980 3,280 - -
N B
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2,450 2,700 - -
340 MA Y=
SN
2,980 3,280 - -
B
VIR
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2,450 2,700 - -
BH
WA TFHES — b 12,000 B B
341 WHTFHES — + — WELL
ERAEERAE Y 2,000 - —
S—UHAX 4,110 4,320 - -
342 USwyaayy 26
XE—LHAX 4,110 4,320 — -
343 55y 2R =V - e 3,580 3,940 - -
344 FALFR b=V - ) 3,300 3,630 - -
344 IR b= - e 4,000 4,120 — -
344 NTILA k= — 26 3,580 3,940 - -
Ty IR
4,170 4,340 - -
346 FF2TRE=V — AR 4
NGB 3,740 3,890 — -
LTy hhT— 2,240 2,460 — -
346 Fr—LVFvia - SrHrrhT— 2,240 2,460 - -
T—YILYRAT— 2,240 2,460 — -
347 =R — e 13,000 14,300 13,000 14,300
JY—7F 17,100 17,600 17,100 17,600
PN 15,800 16,300 15,800 16,300
e 7
TR
348 LYy F X b=V - 7
FREE 14,600 15,100 14,600 15,100
=P332
I
349 ES- A v %S 200 % 100 x 50 — 750 830 37,500 41,500
30001 8,400 15,400
351 ST — 600 x 300 i) 8,400 WEH L 15,400 WELEL
60001 11,400 15,390
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TILT AR k=20 6320 e 11,800 HEL L 16,225 BMELL
6020 12,000 16,200
352
3010 9,300 9,300
TILTZZ k=10 6310 e 13,500 HERL 9,281 MELL
6010 13,700 9,248
3020 7,400 16,280
sFY =R k=220 6320 e 11,800 HERL 16,225 BMELL
6020 12,000 16,200
354
3010 9,300 9,300
g4 Y —2 k=210 6310 o6 13,500 HER L 9,281 WERL
6010 13,700 9,248
3020 8,900 16,317
356 VAERNE- T 6320 o6 11,900 HERL 16,363 HERL
6020 12,100 16,335
3020 7,400 16,280
358 NHILTF 4 —F 6320 — 11,800 HELL 16,225 BMELL
6020 12,000 16,200
30000 13,700 12,558
359 FRILA b= 600 x 300 e 13,700 HELL 12,558 WELL
60007 13,800 12,420
360 Ah—3 30007 26 7,800 HER L 6,600 MELL
30007 13,700 10,764
148071 15,000 HERL 11,116 WEL L
361 HILES i)
SRR EF3000] 42,000 -
EREER 1480 38,700 %45,150 — —
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1800H 22,700 25,000
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1800H BREAFT 25,600
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Fr—>1lm 2,500 2,750
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386 - 26
~bd 1A 21,500 23,700
VA —f—Ea—
389 - - 26 27,300 30,100
FILIL
VA —R—Ea—
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- G f— P — 27— UL e 45,200 47,500
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BT vL 17,800 18,700
AEITY o8l 19,300 20,300
AROF—I/UL 17,800 18,700
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F v 2 hF—LL 43,800
398 H”;i;fl_ HEF ¢ 2 RS 26 14,100 EE
GRS A 16,400
RF ISy 25,000
Mo — R —a— RF Ry 25,000 26,300
8 AT I BERT 8 - 30,400 32,000
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a—v 24,500 25,700
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N 35,600
7727w b
ST
. o 51,000
770y b 77X BEE
A= 37,100
YA —ILS Ak NE YT 42,200
420 T st
LED> ) —X INR FyR— 47,000
EDa—ILTA K 33,100
IAT4 13,000
LED®™ =15 1 WELL
. 20,400
Lo & 21,400
42

fiitgz (BRI




1B E; + AP
hnLE miE
= M ER] HER
v —3—LED
I 30,000
HZ7Zx70v 7
78754 b v —35—LEDA
422 X 4,950 ERL
Y5 y—X AL A & R WES
LEDY —5—54 k 39,600
LEDY =5 —XF 1 6,700
75V RSk 25 000
12V (L) '
78774k
423 \ SRS BER L
LED> U — % P 30.500 &
100V ($kf8)
XAy FF¥ Xk 3,600
WVEA<T— kTR 20,800
RS54 a—> MEAA 2,240
RFS4a—> 10EA 3,630
a—F5m 2,860
a—F15m 7,400
423 LEDFREYS 7 27 =+ 1 — WERL
FT Vv RR &Y R2E 12,000
0—RL k
_ 1,210
kv T7v Y
Svvoav
4,070

Ry 7R

flitgsk (FEAI)
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POST - SIGN £z b - 44>

1BE; L _ il
GSIEEA niE ® o —
B BERT HER
FRRA AR ) 215,500
aEF X
e d T BB ) 231,500 HE
Vi
vy R YA - 29,700
428
EgE/2E ) 170,500
aEF X
a LR A A S BREAE ) 186,600 RE
Ty R YA - 29,700
429 Y A=PR - ) 134,600 EE
FHA 201 56,000 63,000
430 TLTYy RR—L FHA 202 i) 77,500 87,200
FH A 203 80,000 89,800
RRZHR—)L 37,600
432 25— ) RE
ZNRSHFE=IL TA R 78,700
INTF 65,000
433 INT 4 - HEL L
NTAERYA > 20,000
900H 11,400 HE
1200H 15,100 16,700
TAVT=Y Iy R N
434 TR, 1500H el 19,000 20,900
—/N—7
1800H 22,700 25,000
1800H (EBIRIREF N) 23,400 25,800
900H 11,400 HE
1200H 15,100 16,700
435 LALRY ——5 7 | 1500H ) 19,000 20,900
1800H 22,700 25,000
1800H (EBIRIREZ N) 23,400 25,800
1800H HBEAFA 25,600
1800H A > &2 —k > 25,600 N
436 T TF—Ty RR— L o6 WEHL
1800H 1B%& 7 L 24,800
1500H 8% 7 L 21,700
1800H FBBHA 25,600
437 ZFE—R—L 1800H A > &2 —k > o6 25,600 WEH L
1800H 1B%&7: L 24,800
438 aL b - ) 61,400 WEL L
= ) 103,800
439 T WEH L
F—L—L - 5,500
440 VAVES - ) 47,500 WEL L

fiitgz (BRI




B - AL
A g ®
= M ER] HER
IA—L e 67,000
441 IX—JL WEH L
YA - 14,000
LT 26 96,000
2= - 3,200
442 ST LT WEH L
FHA L TL— b ) 27,000
F—L—L - 5,500
Y7 - ) 76,400 WEH L
444
B - 26 29,800 BEL
LR - 55,500
Y5 14,400
446 L3R FHA T — bk 7y R 17,300 HE
AT T4V 16,700
BT - 2,350
1B-12 47,400
447 O4MSH! ) WEH L
2B-15 70,200
448 RN - ) 63,900 WELEL
450 ¥ N— — e 40,200 WE &
452 IoF4 - ) 35,900 WELL
454 IoFay R - ) 47,500 WE L
454 Y LZREYR - 26 29,700 WE L
E27HR74 b 37,200
VA Ay
456 77YR - R4k WEH L
44,700
7L —
R—07F79
457 E7 A — ) 40,400 WEH L
458 25 - ) 44,000 HELL
458 ARTZREVR - 26 32,200 BE
R—=07F7
ATV TSI 90,300
459 T AYR SV R SAhF—v HE
)N —
87,100
FLy
45

fiitgz (BRI




B N AL
A fmiE ®
= M ER] HER
R—=0 757
GV TF—VT 5y 87,100
75y b SAbA—2
459 T A YR EE
)N —
83,800
FLvy
YAy - 14,500
77 XFF ) 29,200
460 7T RFF WELEL
YAy - 19,700
a—anNy s 2 66,300
461 a—anysy WEH L
HAy - 25,400
462 REAY v aRR b - 26 18,000 WEH L
462 Ry 4 - ) 30,300 WEH L
462 Fan - ) 25,300 WEH
TILE - 73,500
464 TILE WEH L
EBER~R—X - 21,700
FALZ - 69,600
465 VA=A WER L
EBR~R—X - 13,800
AT h&AT 88,200
TRLEATEEL ) 104,800
466 VR HE
IRLEATBEL 120,000
I RLEA TREAR—Z - 31,900
470 Hy— - - 22,300 WEH L
HY— 11 — 25,000
470 ) WER L
A e Mty b — 26,500
470 D2V N U — — — 22,300 &Etf L
470 Sy Ry — 1% - 25,000
. ‘ WELRL
470 TL—htv b Mty b - 26,500
472 P — ) 29,000 WEH L
473 T7L b - ) 23,100 WEL
475 v Az 1XZEHY 26 7,700 WEH L
475 7R - ) 29,800 WEL
475 sFYRTA R - ) 34,800 WEL
L 105 T 31,600
476 e . ) WELEL
7L T4k MR Y 2,700
bXFET 44,500
476 5L ) HE
BMIXTH=Y 6,900
AbL—brA7 35,000
477 F4TL 26 HER L
a—F—%47 40,000
46

fiitgz (BRI




B N AL
A fmiE ® .
= M ER] HER
478 LaF - ) 26,000 WEH L
478 AYE - ) 19,500 WEL
479 FELL _ e~ 17,000 WELEL
K 29,800
479 LAf¥—K el WELEL
FHA =y 9,800
480 X5 /N — — 18,800 WELEL
480 ANF - ) 29,800 HER
481 7Rk - ) 29,800 WEL
481 SRTFAE - — 29,600 WEH L
482 RLRS — — 29,500 E A
482 KL ZR — — 26,700 E A
FHA 201 - 31,200
483 F = WEH L
FHA 202 - 33,400
483 TaY - - 31,300 EE
0147 - 31,300
484 55— BEE
W200 - 27,400
Zaf=— 0130 - 21,200
. WELL
ATV R 147 — 22,000
484
2hf == 0130 - 24,500
o _ WELRL
T7I7VIRTVLR 1147 — 25,400
485 L—5 - - 35,600 EE
0130 - 27,300
485 n—z RE
0150 - 28,900
2FVLZR - 27,300
486 =y HER L
TSy IRFVLR - 30,600
2 k= - 30,000
486 SN HERL
75 2 - 33,700
A87 L I) 7 —_ — 27,800 &Etﬁ: L
0130 - 22,300
487 RI~v BMELL
1105 - 20,000
488 J7LT - - 39,200 WEH L
488 4> 7L R - - 24,700 HE
IXFET - 79,800
489 75k WEH L
BIIXFEHT-V) — 9,300
IXFET - 36,000
490 T4—J R WEH L
BMIXFEHT-V) — 3,500
490 LYy - - 33,000 WEH L
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B N AL
A fmiE ® .
= M ER] HER
195 34,700
491 735 01120 ) 38,100 WEH L
150 40,800
491 VT4 L — ) 36,000 WEH L
MH A - 29,400
492 JILT VT WELEL
L4 X - 32,800
FH A 201 36,700
FHA 202 38,400
492 TF 4L 26 WEH L
FHA 203 40,000
FHA 204 42,300
493 v UKR 1XFH7-Y - 9,700 WELEL
493 aEL 1XEHY - 7,000 RE
7avx 19,800
494 = 1XFH7-Y SN — WEH L
18,400
Ty
494 HRY— - ) 26,300 WEH L
495 YT - ) 24,000 WEH L
496 2y h — ) 52,500 WEH L
497 754 - ) 57,000 WEH L
497 ey — 26 49,600 WEH L
498 Py - — 19,000 HERL
498 FI52 — — 36,700 HE
499 I — — 19,300 WEH L
499 7oLk - ) 17,800 WEH L
499 T—T47 - ) 21,300 E A
500 T RTIE - - 29,900 E A
500 72k - ) 26,700 WEH L
501 TY—+ - ) 24,500 HEL
NR—ZZA I oea) 5,600
501 ~RLR WEH L
F—LTFL—Fk - 11,700
502 BF v b - ) 20,300 WEH L
502 a2y —x — ) 20,900 E A
150 - 30,400
503 gLT—k HE
1200 - 33,300
503 RFAT - — 39,000 HE
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- B AR
7 i Ahis &
B BEHI WER
s gy — 13,500 BEL L
AR INFET - 29,800
) WEEL
504 BR3ZW120 Bl — 3,000
AR INFET - 32,500
) WELEL
FR3ZW150 Eemiy s — 3,200
W120 — 6,500
505 TY—R—LRTYH— BWEEL
W240 - 7,600
. - 45,400
506 FI— bk 5y R - 48,300 RE
IRy 7> - 20,000
Atk 2 25,800
A
Hh—FT7L— 4,000
507 SR BER L
Y4 F7L—h J—LTL—
=07y K
8,000
ZAET YR

49
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Ell=gz)

e A% iE & S
L1 BEHT WEE
537 SBREDIE A=Y - — 39 WEL L
1L - 2,480 2,730
539 NSAA 7Ly o R 4L - 7,910 8,700
18L - 19,360 21,300
4.0kg - 28,000
WEL L
550 A A GN—F 2.0kg - 17,200
1.0kg - 9,800 10,500
577 7Lk Z % RS — — 510 WEL L
583 Tyahy b 4L - 16,200 WELL
584 7T —I200S 4L - 13,600 HELL
585 7 7 —IL500S 4L - 13,600 HELL
586 7o b 4L — 15,000 HERL
586 LA kLy P 0.2kg - 1,380 1,500
587 4/ =N o YF7a—k 4L — 21,630 MELL
588 A3/ =L 7Y F A=k R—s— 4L - 24,500 WELL
589 YEsU—> 0.5L - 7,500 HERL
589 439y —>R—/N—GP 4L - 21,630 WEL L
50
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